


COMPANY PROFILE
-

Yuandong-hawks are manufacturer and exporter, specialized in aluminum alloy casting since 1989;
make the rotary pneumatic actuator since 2003.
Company building area of 18000 square meters, covers an area of 30000 square meters, and

employee is about 300 persons.

Current main facilities include the non-ferrous smelting 3sets, heat treatment 6sets, shot blasting
2sets, vibration 2sets, machine center 5sets, CNC 18sets, lathes 30sets, milling 10sets, metallic gravity
casting 20sets, die casting 6sets, ultrasonic cleaner 3sets, polisher 10sets, painting line 300 meters,
assembly line 3sets, etc.

Yuandong-hawks main products are automatic equipments; include aluminum alloy castings,
aluminum gearbox drivers, aluminum levers, pneumatic actuators, pneumatic cylinders, air filter
regulator and lubricator combinations, limit switches, electro pneumatic positioners, noid valves,
pulse valves, angle seat valves, butterfly valves, ball valves, DC motors, planetary geafed mators etc.

Yuandong-hawks obtained ISO 9001 quality system and CE (ATEX) certificates jssued by\Sira, and
focused on maintaining the products standard and performance stability.

Now some factories and companies had combined to be a new yuandong g

Fenghua Yuandong Auto Parts Co., Ltd.

Fenghua Hawks Automatic Equipment Co., Ltd.

Fenghua Haks Import and Export Co., Ltd.

Fenghua Leiteng Metal Co., Ltd.

Fenghua Weibo Machinery Manufacture Co., Ltd.

Fenghua Fengquan Micro Motor Co., Ltd.

Fenghua Liangjie Locomotive Part Co., Ltd.

members include:

Our products sales not only the home market, but atso all o al in Eufope market
our products enjoyed a good reputation, even earned some custome

Welcome to visit us at any time, wish to be yourcoope arter in China for long
time.

ME-MEHRFEEMHE O, B1989EFIBE TN 2003 A 18 M B E =SB NAT
. N E HHERI8000FH K BH 4300 N

BRI ER R EREIEHERIAHK, 64 MAE, , » MITRLSE, BUIEER
188, LTBERIOE, $HAR106, T REEDNHI & 8/ %55'&1%3%, mEMI0E, BLER
£300%K, EELIRE,

EHR-mefhEE~mE 83 % B ; EFE, R F AR, —szﬂ,*tﬁ“;, =
%@Eﬁﬁﬁﬁ%ﬁ PRALFF K, B S Hﬂ<IFFI1*Z| ﬁfnﬂ R, BKi®, BB, ITER
1#

pu 5 RE - AR I MERE R EE TE I

i 15

=

=

BRI E RS

By
" {3 3 , S REHERTE, LEERMTE, RNNERESERFNE
- MR B 2 18 75 oh [ B B 1) B A R R RN A E

-1- Http://www.cn-hawks.com




Http://www.cn-hawks.com

1.0ffice Center 2.Testroom

3.The machining center 4.Die casting machine
5.Paintline 6.Assembly workshop
7.Torque tester

1HAE 2. M=
3T A 4. EEH
5 MR 6.5k A&
7 .35 3R A




1.20-series Handwheel Gearbox Operator
20R 5 FahigE

2.GD-series Handwheel Gearbox Operator --- -+ ---
GDRIIF A% E

3.SW-series Handwheel Gearbox Qperators: -\ -«
SWRIIF g se s

FMARSIFE%HE

5.PS-series Handwheel Ge --20
PSERJIIF s
- 24

6.30-series Hand

e 666 000 000 000 0oe see ...25

HAABEEEGRBLR

1562 9001:2008

Bl B

1SO9001 quality System certificate CE(ATEX) Export Authrized certificate
ISO9001IAE B 18 25 RN IE XF 4 O HE

-3~ Http://www.cn-hawks.com




20-series Handwheel Gearbox Operator
20% 5 F B 5% 1A

Ordering code
17 4 5

Flange %]
S A
/f = %:— EI:.
FO5/F07 - 140
Reference
IS0 5211
Model Square iange Type | ©1SO Holes ) Oifsiviéfimai B Butterfly |Ball valve | WT(KG)
5 N - Torque Ratio . -
/RS 17 /i BE IFRER valve/i#i®@ |Model/zki@ &2
7 ° [ sem ° sy | oue(Nm) =
/B AL
20070 | 8/9/11/14/17 |  FO05,FO7 50,70 140 1:9.6 180 32-150 50 1.2
20090 | 8/9/11/1417 |  F07,F09 70,90 200 112 300 32-200 63 21
20102 | 1719122 FO7,F10 70,102 250 1125 540 200-300 80 35
20125 | 1719722 F10,F12 102,125 300 1125 675 250-350 100 48
20140 22127 F14 140 400 1710 1310 350-400 150 95
201408 | 22/27/@50x14 F14 140 600 11 1790 400450 | 200 1
20165 | 36/050%14 F16 165 600 119 3250 450500 | 250 17.5
D60 18/065
20254 F16,F25 165,254 700 1:19 5500 600-650 | 300 28
20/280%22




Introduction and Features

TERSHR

Our 20-series Aluminum valve handwheel gearbox, 90 quarter turn drive device is
suitable for butterfly valve, ball valve and plug valve and so on. The aluminum alloy
material body after static electricity powder coating has an excellent appearance, strong
adhesion/mechanical property and anti-corrosion/wear resistance.

2025 E @ FAIERFEEH T EEEMIRME. PkBMEEME, B f& &Y
AR ENEINER, Bﬁ%jﬂiEﬁ?ﬁl‘ﬁ@'ﬂﬁ'l‘i%ﬂﬂﬂﬁé'l‘io

-1SO 5211 direct mount patterns.
- Filled with special lubricant before leaving the factory
- Weatherproofis IP 65.

- The output torque range:180-5500NM
- 5 degree angle adjusting

-ISOS2MEERERR
erﬁ'la %Baﬁﬁ'} E/[ﬂlﬁ/ﬂﬂ
- BH I E R AIP65
- A% 180-5500N
-+5° BT

Gu

1. ctIy installed. The worm gear shaft hole should be concentric
with the valve shatt. e screws must be tighten up.

2.The ra tput when the load applied on handwheel meets the

requwemet ' démange the device, the user must not operate the device
diameter and using resultant force that exceeds the
anufacturer will not take the responsible accordingly.

required input walue,and
SR FEMIRERE:

1TIRENERRE, WRMFLNSEMETRE CXFT, BRAESTMSE.

2 HER LMARFANEN, THRPCHERE. HTFRTRE YEANTFRER
S0 B R B O NI, AR R R IS 00 U B R R

-5- Http://www.cn-hawks.com




Materials and partlist

MR FEHIFE

Nb\ ltem \ | Q.TY Material
IFS # I8 1418
1 Boltigi#g 4 SS304/ 454
2 Pointer/#&R = 1 ABS resin/ABS#Ag
\3 < Cover/Z 1 Aluminium polyster coating/$a & &M 28
4 O-Ring/O%!fE] 2 NBR 70/ T B51582
5 Rin/h 1 Steel black/RxiN% 2
6 Worm gear/ig4 1 Ductile iron /Bk B4k
7 Redr seal/f5 &£t 1 NBR 70/ T BE#5ER
8 Body/ 1 Aluminium polyster coating/$a & &M 28
9 Adjusting Bolt/ig% 184 2 Steel black/fkiH A& 2
10 | Adjusting Bolt Gasket/iA# 12423 5 2 Galvanized steel/BRiM$ESE
11 Adjusting Nut/i§ £12 £ 2 Galvanized steel/F&5M4ESE
12 Adjusting nut sheath/ig 712 &P E 2 NBR 70/ T B&#58%
13 Bearing/4& 2 Powder metallurgy/#t K8 &
14 Worm/#@#F 1 Carbon steel 45 #/Tx$045#
15 Front seal/BI & %: 1 NBR 70/ T BE#&H2
. - Carbon steel 45 #/T5$¥45# (Option/ 7] iE)
16 Rotating shaft/4% 5% 1 SS304/ 7 Option/ i)
17 Hand wheel/F% 1 Carbon steel polyster coating/## Nz %8
18 Pin/4d 1 Steel black/F4 i % 2

Http://www.cn-hawks.com




Dimension TableR < &

o L1 ]
1N/
ear | Output Torque
Mgc;d:v Rt (Nm)(Maa%\ \ AM Deep| B> c | D| E | F| H| @ | oDt 'mD;;p D2
7 \/wi"ﬂtl: B AR =
070 | 1: 180 Bx8,9%9,11x11,14x14,17x17\45”"| 160 115] 80 | 42 [ 78 | 48 [ 140 5070 | 4-Mex104-m8x12 | 30
20090 | 1:37 A\300 8x8)9%9,11x11,14x14,17x17 |50 | 160]130[ 100| 50 | o7 | 54 [200] 70190 | 4-mex12i4-m10x12 | 32
20102 | 1:36 549, 17347, 20x2 53 [215[150[ 120 60 [117] 56 | 250 70102 | 4-M8x12/a-M10x15 | 43
20125\ 1:36 675 \ 17x17,19x19,22x22 65 |225[180[ 142] 60 [138] 69 | 300 102/125] 4-mx127aMm12x18 | 43
20140 | 150 1310 22x22,27x27 90 |325|225[185| 80 [175] 95 [400| 140 4-M16%24 54
20140B] 1:39, 1790 22x22,27%27,050x 14 90 |375|225[185] 81.0 [ 175] 95 [e00| 140 4-M16%24 50
20165 | 1:55 3250 \26x36,050x 14 100 | 395|268 | 230 | 104.5| 220 105 600 165 4-M20%30 65
20254 | 1:52 5500 $60x18,065%20,080x22 | 120 | 416]332] 265| 130 | 286] 125] 700 165/254 | 4-M20x30/8-M16x24 | 80
<2 TR Y
: .
: . A 4
RARA
_7_

Http://www.cn-hawks.com




GD-series Handwheel Gearbox Operator
GDAR Y F g E

Ordering code
17 g 85

Flange J
= Fi

- FO5/F07 - 200
Reference Ball
Actuator [ Valve [ ISO 5211 | @ISO %) Outptut/Input Actuator | Butterfly WT(K
Model . Output s valve
ey || SUEID ) BGIERD Flange Holes | /F# | Torque Ratio Torque(Nm) Model/S 3 | valve/it Model/Zk G)
ISHFS BB | TypeliE | /R0 | HE | AEHAESBLE | o wirg | i@ X Em
/B AH%E i3]
GDO050 | 11/14/17 | 11/14/17 | FO05,F07 50,70 200 1:9.6 300 52-105 32-150 50 2.7
GDO070 | 14/17/19 | 14/17/19 | FO7,F10 70,102 200 1:12.5 360 63-127 32-200 63 4.3
GD102 22/27 22/27 F10,F12 | 102,125 | 300 1:12.5 810 105-160 | 200-300 80 6.8
F10,F12 [ 102,125,
GD140 27/36 27/36 F1a 140 400 1:10 1310 140-210 250-350 100 13.5
GD165 36/46 36 F14,F16 | 140,165 [ 600 1:19 2800 240-270 | 350-400 150 25.8
GD254 46 @60 F25,F16 165,254 700 1:19 5500 270-300 450-500 250 40.3

Http://www.cn-hawks.com




Introduction and Features
NE54HF =

The Aluminum Declutch Gearbox is specially designed for butterfly valves, ball valves, and
plug valves,etc. together with pneumatic actuators. This device allows manual operation
during installing, system testing if when air resource is not loaded. It can be mounted directly
on most of the popular rack & pinion style pneumatic actuators in the market. Of course, it
does not need a distance plate installed between the pneumatic actuator and the declutch
gear.

BARNERMERITSER. REMSHRITEERS]
AR E SR IR S TIRME, XA IRR IR L E]
ITHRMSPBEEZEHIAFTENRE,

- Asimple and compact design, light-weight device

- 1ISO 5211 connecting standard

- Easy to switch from manual drive to pneumatic drive
the wrench retainer.

- Internal parts lubricated with special lubricant
device is assembled.

- Weatherproofis IP65

- GD series products output torque range

180 to 5500NM

5 degree angle adjusting

- iﬁl"’lﬂ_];n i15511§
- ISO5211E ¥ %‘é
§§+M$_

1. Thed

handwheel meets he requirement. In order not to
demange the device, the yser must not operate the
device by changing the'handwheel diameter and using
resultant force that exceeds the required input value,

and manufacturer will not take the responsible accordingly.

198 M EHZLE, BRMALES R NEFROXT, BARITME.
2 LE LM RBFANEN, THRPCHERE. HTFRTRE YEANTFRER
S BT 50 0 NI, PR R R IS S0 U B R R

-9- Http://www.cn-hawks.com




Materials and partlist

MR FIEHFE

0. \Ll:lem ) Q.TY Material
I 4 8= 1448
1 BoltMgfe —— 4 SS304/FR4E4N
2 The\limiting assembly/BR{T2E4F 1 SS304/FEN
3 \__Bracket cap/32%2 = 1 Aluminium polyster coating/$a & & B8
4 “Q-Ring/OE ] 2 NBR 70/ T B4%
5\ Clip'spring/ £ & 2 Steel black/ER$RA% 2
6 Connecting shaft/ i34 1 Carbon steel 45 #/Ex4M454
7 _Worm gear/#&% 1 Ductile iron /Bk 2455
8 Wrench/#RF 1 SS304/ 5N
9 The set screws/Z Ei2 22 1 SS304/A 554N
10 Body/{& 1 Aluminium polyster coating/$a& & B8
11 Adjusting Bolt/i§ &2z 2 Steel black/BiN % 2
12 | Adjusting Bolt Gasket/{fE g 5 2 Galvanized steel/BxiN$EEE
13 Adjusting Nut/{EE 2 £ 2 Galvanized steel/BxREE
14 Adjusting nut sheath/i 12 E 2 NBR 70/ T B5#
15 O-Ring/OE! & 2 NBR 70/ T B5#&5%
16 O-Ring/OE! & 2 NBR 70/ T B5#&5%
17 Eccentric shaft/{g:0 4 2 45¢# steel plating/45#Fx N E TR
18 Bearing/ 4% 2 Powder metallurgy/#t K& &
19 Worm/ g+t 1 Carbon steel 45 #/Tx$N45#
. _ Carbon steel 45 #/1% $045#(Option/ Al %)
20 Rotating shaft/4 zhi 1 SS304/F 54 (Option/ T 3%)
21 Pin/$8 1 Steel black/®& N %4 2
22 Hand wheel/ F % 1 Carbon steel polyster coating/F N8
23 Pin/$4 1 Steel black/F& % 2

Http://www.cn-hawks.com

_10_




Dimension TableR ~F &

S

\ %o O § il
| | _ =
- w | M1 -
F1 ,; Im \
F2 [ e It M2
2 | . /
« = =l — —=
S Kl NE /\ |
L] #0p2 Dv2
\_J ) ] }9/
( ~ /%) e0pt T #0v1
L H1
A /\ H G
For
Model Gear '(I')ourtp:; JxDeel ctuator, Wt
= | Ratio 9 A|lB|c| E |F [Dpt]F1|Dp2 1f St | ov2 P | G| H|[H|[L|M]|os| (k)
me (Nm)(Max) SRE e Zepl &
e IR 1SEPAT IER
WS
1x12 [11[A] s
GDO50 | 1:40 | 300 | 70 [125|110| 442 | 54 | 70 85| 5085 70 | 4-Mmex B 4-Mx10 | 14x16 [ 14414 6375 | 90 [100| 33| 143 104 | 200| 27
— [1zxao{17[ 17 ] e3-02
14x16 | 14] 14| 6375
Gpo7o| 1:38 | 360 | 95 | 150 | 135| 522/ 70 | 102 | 11 | 70 8.5\K4-M10x15 70 | 4-Mex12/[ 17x19 [17]17] 8392 |125(118| 43| 177 | 124 | 200| 43
19x21 [19[19] 105
22x24 | 22| 22| 105-127
GD102| 1:36 | 810 | 115\\185| 160 | [65 | 70 | 125 13 [~02 | 11 [ 125 | 4-q2x18 | Toz | 2-Mi0x15 140 | 124 45 | 190 140 | 300 | 6.8
27x29 | 27| 27| 140-160
124 [ 13 [ 103\t [ 125 [a-mn2xtly [ 102 [ 4-m10x15 | 27x29 [ 27] 27 | 140-160
GD140 310 | 140 | 225200 \e5 | 78 185 [ 162 | 56 | 325 | 180 | 400 | 135
140 [Nz [ 162 [N\ 140 [4-m16x34 | 102 | 4-m10x15 | 36x39 | 36| 36 | 190-210
140 [ 17 [ - ] - Mo Jamfexea | - - 36x39 | 36| 36 | 190-210
165 [ 1:55 | 2800 \| 165 | 268 | 243 | taa's | 105 230 | 181 58 | 395 | 214 | 600 | 25.8
185 ] 21| - | - [15] 4-meoxa0]| - - 36x30 | 46 [ 46 | 240270
G54 | 152 [ 5500\ 330] 283 [ 130 185 | 21 | 254 | 17 | 165 | 4-M20x30 | 254 [8-M16x24 | @60x70 | 46 | 46 | 240-270 | 265 | 205 | 58 | 400] 230 | 700 403

_11_

3

Http://www.cn-hawks.com




SW-series Handwheel Gearbox Operator
SW R 5| F a3 HE

Ordering code
17 W 75

Valv Limit Switch box Model Type Feedback
R 1 75 1L IR BS il K%
200 M F

Reference

Model Square ISO 5211 | ®ISO Holes %) ?g:g::tg;‘;‘g Ref:;f:j:(ﬁr:t)p“t Butterfly | Ball valve
[BIS 1 Typeli:= [Hl R IFRER I ey valve/t%i® | Model/Fki#
SWO70 | 8/9/11/14/17 | FO5,F07 50,70 140 1.9.6 180 32150 50
SW090 | 8/9/11/14/17 | F07,F09 70,90 200 1:12 300 32-200 63
SW102 | 1711922 | FO7,F10 70,102 250 1125 540 200-300 80
SW125 19/22 F10,F12 102,125 300 1:12.5 675 250-350 100

Http://www.cn-hawks.com




Introduction and Features

TEERHR

Our SW Series hand wheel gearbox are special designed of gearbox cover can
support the limit switch bracket, easy to amount the limit switch directly without any
accessories. This series gearbox can control 90 degree rotary valves, such as butterfly
valve, ball valve and plug valve and so on. The aluminum alloy material bodyafter static

electricity powder coating has an excellent appearance, strong adhesion/mechanical
property and anti-corrosion/wear resistance.

RO T ERELREOSRLTURE RS %
ERE. S RIEEH TSRO0 I N & H1H,
e % : .

Optional acces
coreyjoint ect

sory include the position in indicate or

TSR R T

Http://www.cn-hawks.com




Materials and partlist

MR FEHIFE

0. \ Item > Material
L It ez
\Bolt/igis SS304/ A H

N Pointer/#§ =& ABS resin/ABSHiBg
< Cower/Z Aluminium polyster coating/$8& & 128
O-Ring/O%! NBR 70/ T BE#5%
Pin/$4 Steel black/fx N4 2

“\. Worm gear/if#

Ductile iron /Ek 2855k

Rear seal/ [ &%t

NBR 70/ T B5i&R%

Body/#k

Aluminium polyster coating/$8 & & W28

Adjusting Bolt//AE g2

Steel black/FxiH 4 2

Adjusting Bolt Gasket/{F% B2 #

Galvanized steel/ BN HESE

Adjusting Nut/iF 2 £

Galvanized steel/ BN HESE

Adjusting nut sheath/iA T2 B E

NBR 70/ T B5#5%

Bearing/4f&

Powder metallurgy/$ &8 &

Worm/s@4F

Carbon steel 45 #/15xN45#

el el el e el
mhw,\)_‘owm\lx{mhwm—\

Front seal/Bi 25 $

NBR 70/ T B5i58%

Carbon steel 45 #/%%$X45#(Option/ 7] %)

\
& O
Sl 2 [ =INININININIR===mINN D
i 2

16 Rotating shaft/4 54 SS304/ 54 (Option/ I &)

17 Pin/d Steel black/fx N4

18 Hand wheel/F4¢ Carbon steel polyster coating/fx Rz 28
19 Pin/§4 Steel black/fx N4 2

Http://www.cn-hawks.com




Dimension TableR < &

[ ALS200 ALS200
| o I @ i ;]JJ
7/ //’ N P \\\\\\l i r.w m’ : i wfhgl [fj
i \ % l— N s |
AN \g S //\/éﬁ 4 H2 l I l ) H
e=c RO
SaR=S

Model o *
/’:*-!F?/NL\/ /B/\(‘\DE\F’I~—M1/F2M2KLH1HHAPS

SWO070 | ~8x8,9x9,11x11,14x14,17x17 | 160 115\80 [ 42| 70 | M8 | 50 | M6 | 25| 50| 20 | 48] 156 | G1/2] 140

SW090 | 8%8,9%9, 11x11,14x14,47x17 | 160 130 50190 [ M8 | 70 | m8 | 30] 80| 20 54| 162 | G172 200
SW102 h7x17,19x19,22x 22\ [ 215[ 150 [ 12060 [ 102[ M10] 70 | m8 [ 30| 80| 20 | 56 | 164 [ G1/2 | 250
SW25 19x19,22x22 225|180 | 140 | 60| 125| M12] 102 | M10] 30| 80 20 | 69| 177 | G1/2] 300

*HA dimension e i ofYoth gearbox and limit switch,and Change all ording to limit switch type.
*HARTE T EREFRAUFARNSE, FREMRUAXLEYNET. (BRR~TAHALS200)

*P dimension is joint size of4imit switch, details please reference the page of ALS limit switch.

PR ARALFF KRB ERK /N FHIFESEALSRIUFXET.

-15- Http://www.cn-hawks.com




FM-series Handwheel Gearbox Operator
FMZ 5 F #1538 78

Ordering code
1T g 85

Flange ]
R A
/f: qiit,
FO7/F10 - 140
S
Reference
1SO 5211
Model | Square |~ 2 | @ISO Holes @ ?”tpt“‘g‘p_“t Output | Butterfly | Ballvalve | WT(KG) | Switches
me s | PETE s | Eseme | JOTMeRAlO L ue(Nm) | valve/i#ig | Modelskig | /&R IF%
%= /H AN HSE L =
/B AHE
FMO90 | 8/9/11/14/17 | FO7,F10 70,102 140 1:12 300 DN32-200 | DN63 24 | AC220V.5A
FM102 | 1719/22124 | F10,F12 | 102,125 300 1:12.5 675 | DN200-300| DN100 55 | AC220V.5A

Http://www.cn-hawks.com




Introduction and Features

TESHR

Our FM Series hand wheel gearbox is special designed for firefighting etc. This series
gearbox can control 90 degree rotary valves, such as butterfly valve, ball valve and plug
valve and so on. The aluminum alloy material body after static electricity powder coating
has an excellent appearance, strong adhesion/mechanical property and anti-
corrosion/wear resistance.

FMF%@J%EJJ‘EE’B%E%%;’%BE?@J 'ﬁ%lhﬁvl'ﬁ"],ﬁ e 48 AT LU HI90° R
@, IKBFEERE. RESEMR ﬁl:EEI’\]é’I\S( BB
U BE AN TR T BB R 1

Weather p oof isIP 65
B echanical stops

- |S 5211 Er""'"t 230
- BEIPELR AIP 65
- HLE

-17- Hittp://www.cn-hawks.com




Materials and partlist

MR FIEHFE

NO. \ Item \ QTY Material
= G 1= %15
N Indisator board/$g RA% 1 Aluminium/$8& &
2 Boit/42 2 SS304/ 1 E5EW
3 | >\ Countersunkchead screw/3 <184« 4 SS304/ 54N
4 Cover/Z 1 Aluminium polyster coating/$8& & Bi ¥
5 O-Ring/ O 2 NBR 70/ T BE#§8%
6 Cable assembly/ 45 2A 4 1 /
7 Worm gear/$#% 1 Ductile iron /FkEE 455k
"8 Rear seal/[E &5t 1 NBR 70/ T &%
9 Body/{F 1 Aluminium polyster coating/$A & £ 5%
10 Adjusting Bolt/ig# 1242 2 Steel black/#iH% 2
11 Adjusting Bolt Gasket/{&igis# 5 2 Galvanized steel/B55R5E5E
12 Adjusting Nut/iAE 2 & 2 Galvanized steel/Bx N & FF
13 Adjusting nut sheath/ig 512 B E 2 NBR 70/ T B515A
14 | Fanti-fold Cable Gland/¥8$:}£; 45 Bh 1%k 1 NBR 70/ T BE#8%
15 Bearing/3#%& 2 Powder metallurgy/#3 & i& &
16 Worm/$g+F 1 Carbon steel 45 #/F5xH45#
17 Sealing Ring/ Z £ B 1 NBR 70/ T BE1&E
18 Locking piece/$ii i 1 Carbon steel 45 #/fk$H45#
19 Countersunk head screw/ST k884 2 SS304/ 54N
20 Lock plate/§ii# 1 Carbon steel 45 #/E&$H45#
. - Carbon steel 45 #/Tx$H45#(Option/ A i%)
21 Rotating shaft/4% 5% 1 SS304/R 54 (Option/ AT )
22 Pin/$4 1 Steel black/#5H% 2
23 Pin/$4 1 Steel black/#RiN%& 2
24 Hand wheel/ ¥4 1 Carbon steel polyster coating/fx Rz 28
25 Pin/$4 1 Steel black/fiH % 2

Http://www.cn-hawks.com

_18_




Dimension TableR <} &

ZL

ZH

i

Mc,)dnel Tor Ratio B © D E F1/F2 M1/M2 H|lo |zZK]| Z | zH
1B Ik s

FM090 [ 300 < | .37 | 8x8,9%9,11x11,14x14,17x17 | 160 | 155 | 102 | 50 | 102/70 | M10o/M8 | 53 [140] 100] 100 157
FM1Q2 | 675 136 | 17x47,19x19,22x22,24x24 | 225 [ 180 | 142 | 60 | 125/102 [ M12/m10 | 68 [300] 100 100 [ 172

Wiring Diagramiz k&

OPEN A, , v

| —
7 3 NO
COM
3
Yellow / green && /46 7x0.5

gE1.2%

SHUT B

-19- Http://www.cn-hawks.com




Ordering code

T g A5

PS-series Handwheel Gearbox Operator

PSR F A

Flange %]
E= Fip
FO5/F07 - 140
Reference
ISO 5211
Model | Square | - E @ISO Holes| 0 Cuifingl Output Butterfly | Ball valve | WT(KG)
= 5 . .= | Torque Ratio ) . -
/B [ /sl BE I1FER valve/igi®d | Model/zki® | /Z&
o R e g =1 e | TO9ueNm) =
/BK S
PS070(8/9/11/14| F05,F07 50,70 140 1.9.6 180 32-150 50 12
PS090 [8/9/11/14] FO07,F09 70,90 200 112 300 32-200 63 21
PS102|17/19/22| FO7,F10 | 70,102 250 112.5 540 200-300 | 80 35

Http://www.cn-hawks.com




Introduction and Features

TESHR

Our PS-series Aluminum valve handwheel gearbox,90 quarter turn drive device is
suitable for butterfly valve,ball valve and plug valve and so on.The aluminum alloy
material body after static electricity powder coating has an excellent appearance,strong
adhesion/mechanical property and anti-corrosion/wear resistance

PSRFEMFoNSHLMEER TIOE LR . KMAEERE, F5EM KRR
BEENBININESR, WMEH®E, BEEEBEHEANTEMK.

-1SO 5211 direct mount patterns.
- Filled with special lubricant before leaving the factor
- Weatherproofis IP 65.

- The output torque range:180-5500NM
- 5degree angle adjusting

-ISO521ME#ERERR
-HT R, BB RS TEEHIE M
-BEIRE R HIP65S
- % 180-5500NM
-+5° BT

Gu

1. ctIy installed. The worm gear shaft hole should be concentric
with the valve shatt. e screws must be tighten up.

2.The ra tput when the load applied on handwheel meets the
requirement. ' démange the device, the user must not operate the device

by changing\the han diameter and using resultant force that exceeds the
required input walue,andymanufacturer will not take the responsible accordingly.

18 SR BNE F IR F R AE:

1TIRENERRE, WRHMFLNSEMETRE O, BRAESTME.

2 HER LMARFANEN, THRPCHERE, HTIRTRE YEANTFRER
o 5 0 K02 O NI, PR F I IS S0 R B R R
_21_

Http://www.cn-hawks.com




Materials and partlist

MR FEHIFE

_Worm gear/§%t

Ductile iron /Fk 2455k

Rear seal/ [ &%

NBR 70/ T B515ER%

Body/{k

Engineering Plastics/ T2 ¥8#3}

Adjusting Bolt/i§ 1244

\EO. \Item > Material

/ BB kEs)
1 Bolt/igte— SS304/ R4
2 D Pointer/#g T ABS resin/ABS#ifg
3 N\ Cover/ Engineering Plastics/ T2 ¥4}
4 O-Ririg/ OZ! ] NBR 70/ T BE#R RS
5. Pin/$H Steel black/f&$N% 2
6
7
8
9

Steel black/fxR % 2

~

o O
Al 2 2NN IN, D

o 2

10 | Adjusting Bolt Gasket/i§E 22 Galvanized steel/TBiNEE
11 Adjusting Nut/ g %42 £ Galvanized steel/Fx$N#E £
12 Adjusting nut sheath/i{B 128 E NBR 70/ T B2
13 Bearing/4#%& Powder metallurgy/$} k8 &
14 Worm/ iR #F Carbon steel 45 #/Tx {454
15 Front seal/ Bl % 51 NBR 70/ T BE#ER
) - Carbon steel 45 #/fx$H45#(Option/ 7] i%)
16 Rotating shaft/4% 4 SS304/7 5§ (Option/ T i%)
17 Hand wheel/F 4 Carbon steel polyster coating/f R %8
18 Pin/$8 Steel black/mx N & 2

Http://www.cn-hawks.com

_22_




Dimension TableR <} &

o 1
1N/
ear | Output Torque
Mgf" Rati (Nm)(Maa‘%\ \ AM Deep| B> c | D| E | F|H| @ ]| oD1 m;zf D2
N 3
o0 | 1: 180 "8x8,9%9,11x11,14x14,17x17\\45”| 160 15[ 80 | 42 | 78 | 48 [140] 5070 | 4-mex1014-MBx12 | 30
\PS090 | 1:37 300 8x8)9%9,11x11,14x14,17x17 |50 [ 160] 130[ 100] 50 | o7 | 54 [200| 70r90 | 4-M8x12/4-m10x12 | 32
PS102 [ 1:36 549, 17X47,19x19,22%2 53 [215(150[ 120] 60 |117| 56 | 250| 70102 | 4-m8x12/4-M10x15 | 43

> . TN
e

-23- Http://www.cn-hawks.com




30-series Hand Level

30R 5 F W

Ordering code

ANARE
Series Model
£1: ] s
e.g: 30 150

Detailed please reference selection. 1£4i5E %%

Mode< A BESquare ) c \ . F ( Flange ) 5 WT(KG)
A Al N e 8
0150 210 | 8/9(11/14/17 M6/M8. 14-19 50/70 10 0.4
30250 |\ 340 14p7/22 M8/M10y 23-28 70/102 12 0.95

HS |,
@ _%

(e (IO I T 1=
(S

&

Http://www.cn-hawks.com




ALS Series Limit Switch
ALS & 7| PR fiL 7+ ==

Ordering code

17 W 75
Series Model Thread type Feedback
151 #75l i - L il
e.g: ALS 200 NPT

Detailed please reference selection. i£4fi5%

Series | Model 'Ig =4 eedback
£ BS il i

M1: Mechanlcal Switches #l '9?95

200
300
ALS 0
50

600

Ref N

"’g’:‘:' ALS-200 ALS-300 ALS-400 ALS-500 ALS-600

W eather Proof
e P67
Bﬁ;';& 6

Enclosure Exclusion proof
iR Exd Il CT6 Exd IIBT6 Exd Il BT6

Temperature Range
RS
Cable Entry
BLEO
Terminal Strips
Kk

Position Indicator 0-90°
BT Open-Yellow:Close-Red FF-Ef X A8
Terminal Strips 5A125-250VAC 15A125-250VAC
Z3ImT™
Proximity Sensor
TR RS
Magnet Sensor
ALRAT
Position Transmitter

(8 i5%

F:wijth 4-20mA Feedback(only for 300,400)
4-20mARIR (IXLE& 300- 400)

on:without Feedback
TR %

-25C -85C

2*1/2G(BSPP),NPT,BSPT,M20-1.5 2*3/4G(BSPP),NPT,BSPT

8-12 8-14 8-12 8-10 8-12

DC 24V(10-30VDC),<=150mA

5-240VAC/DC,<=300mA

Feedback 4-20mA

Http://www.cn-hawks.com




Main FeaturesE* E4F &5

1.Compact and Beautiful Design, Polyester powder coated aluminum diecasting
housing or stainless steel (304/316) housing.

2.Higher level weather proof (Ip67)

3.Certified for use in all hazardous areas(Class I, Div.1&2, Groups A,B,C and D,Ex d

[IBT6, ExdIIC T6).

4 Available for sensors of mechanical, Inductive and magnet
Available for sensors communlcatlon card wit

bracket same as for 30*80-130
optional).

iy1&2, Groups A, B, Cand D, Exd I BT6, Exd Il CT6).
« ASIB IR & K 1 £ 2% 28 AT R %) .

CWEL O, WGH2 (FRA) BEO(1/2"NPT. M20x1.5 7] % #%).
BERIm TR, SMIREESNE D (141 & in T HE A AT & ).

EZEMARNMIETRE, REMBK, AIZAEEEMIIAMAE, S Numf0 0 m

8.'Quick-Set't1#%, WEAKME. MENEARESHARAZENE, FARET

B. g SESHTAR, FTBE 038 R%E.

9. R & 77 {8, NAMURFIISO52117] A 32 22 [5] /330*80-130 H20-30. #x & /2 Xt F7 4~ £5

(Wﬁ#ﬁiﬁ)o

Http://www.cn-hawks.com

_26_




Structure and Material

LK RN #F R

#

=
%
'y
¥ &

/@)
J&
L
=
>
)

L

Polycarbonate, Tin Plated Brass, Stainless Steel

NOFE | Part Namehth &# | Qy 8 Material#1 %
- minum Die Casting / Stainless Steel only for ALS-600
! BoxCowi@ s ! >AM FE$548/ALS-600(F H4)
2 icator Coverfg ] 1} Polycarbonate EEHiEs s
3 “ihdicatorig T8 1 ABS ABSHfE
4 <_ Bualtsigit 4 Stainless Steel RN
5 Cover BoltsZ#g2# | 4 Stainless Steel R
Aluminum Die Casting / Stainless Steel only for ALS-600
\ BONMM 1 ESE/RBINAEALS-600
L , o Mechanical/Proximity/ Magnet sensor
7 hpR{: 2 .
Kmlt%ﬁﬁ{.ﬂ??& T
8
9

Terminal StripimFHE| 8-14 BEE, AR, TEN
Shaftigh 1 Stainless Steel 54N
10 Shaft O-ring %1% £ & 2 NBR T BE#A
11 Cam 4 2 Polycarbonate E2f5E4fE
12 Bolts 124 1 Stainless Steel 5N
13 Flat padF# 1 Stainless Steel 54N
14 Sealing ringZ £} & 2 NBR TBE#%R
15 Spring3# & 2 Stainless Steel RN
16 O-ring OE![E 1 NBR T BE#5A
17 O-ring OEI[E 1 NBR TBE#%HR
18 Bushing%ht 2 Bronze #1R

Http://www.cn-hawks.com




DimensionR ~F

ALS200

CLOSE
G1/2"

93(3.66)
17(0.67)
10(0.39)
A0

30(1.18
0(0.79
i
\vAv)

[00]
(=3
R
&
|
(
B

130(5.12)

112(4.41)

ALS300

o _dy

131(5.16)

N
20(0.79

2612 .
serioses @] TP [ [ [ &8
i L1
I H
of | 14016
= .
e vd /
80(3.15)

130(5.12),

132(5.2)

Valve Monitor

Bracket

fan)
U
fan)
J

Fan
A 4

8 Pneumatic Actuator
n) fan)
. "/

fan

@/
%9—(}

Http://www.cn-hawks.com

_28_

110(4.33)




DimensionR ~F

%’u

142(5.59)

ALS400
R TN
| QLS
P [ | | |
T Lo ?
S HSe
a0Te]] S
L‘E:E"jj 80(3.1 5(; =
| 130(5.12)
ALS500/600

Gl

19

I~

I

I

7" N
57.1x57.1(2.25x2:25) ER

/

)

NLA(0:T8)

30(1.18
20(0.7

130(5.12) T

Easy\Mounting x80,130H20,30)

[ERZES =

OSE

Valve Monitor

fan)
U

D
A ¥4

_29_

g
TT1 & s

< @
H e N \/ on 127.6(5.02)
[lls _4‘ 80(3.%\ ILL S r::”;”——:.:@:j

133,2(5.26)

—
112.1(4.41)

3 Pneumatic Actuator
- =
YLD
\/, \J,
o0 FanY

fan N

- W/

oo

Http://www.cn-hawks.com




ISO Mounting Bracket

= \f o s
PR E R RIS
Model No. Photo® F Material(Optional)#7 4} (RT i) Applicationi& F3
30x80
B0 Carbon Steelf S.5.304-2mm H:20 ALS200
o Polyester Powder coated A5 30x80
REMEKEE H:30
Carbon Steelfi& X S.S.304-2mm 30x130 acko00
MB-1.1 TR
Polyester Powder coated 830~50
REMEKEERE
Carbon Steelf#%$N 30x8\0>1&0\
MB-2.3 / _ ALS2
Polyester Powder coated H:20~30
REMEKEE AN
Carbon Steelf#4H 30x
MB-3.0 .S.304-3m ALS300
N AN H:20~3
D -
30x130
MB-3.1 S.S.304-3mm
8 ’f)rij_/ H:30~50 ALS300
/ ALS300
30x80
MB-3 S.S.304-3mm ALS400
KW H:20 ALS500/600
Carbon Stedi4 30x80-130 ALS300
aroon g
MB-3.3 S.S.304-3mm H:20~30 ALS400
Polyester Powder coated = H50 ALS500/600
REMEKEE '

Http://www.cn-hawks.com

_30_




Tel: +86-574-88912193
Fax: +86-574-88935669
Email: hawks03@cn-hawks.com

Add: No. 278 Yuelin Road East, Fenghua,
Ningbo, Zhejiang Province, 315500, P.R.China.

@2012 Fenghua Yuandong Auto Parts Co., Ltd. all rights reserved.
We reserve the rights to modify without notices.

Fif: 0574-59557099
fEE:  0574-88935669
ME46: hawks08@188. com

Motk e Hh BT 2 AT MK AS #5278

@2012 =TI K EMEREBIR A A R E -
WHEBEA BITEHM



